
LL

$%675$.

$KPDG�)DX]DQ�<XVPDQ� ������3ROD�GDQ�%HQWXN�3HZDULVDQ 7DOHPSRQJ�3DFLN�
GDODP�.HKLGXSDQ�0DV\DUDNDW�1DJDUL� %XQJR�7DQMXDQJ�� 7HVLV��.RQVHQWUDVL�
3HQGLGLNDQ�6HQL�GDQ�%XGD\D�� 3URJUDP�6WXGL�3HQGLGLNDQ�,OPX�3HQJHWDKXDQ�
6RVLDO��3URJUDP�3DVFDVDUMDQD� 8QLYHUVLWDV�1HJHUL�3DGDQJ�

3HQHOLWLDQ LQL�PHQJDQDOLVLV�SROD�GDQ�EHQWXN�SHZDULVDQ�VHUWD�PHQMHODVNDQ�NHVHQLDQ�

WDOHPSRQJ�SDFLN�GL�1DJDUL�%XQJR�7DQMXDQJ��3HQHOLWLDQ� LQL PHUXSDNDQ SHQHOLWLDQ�

NXDOLWDWLI�GHQJDQ�PHQJJXQDNDQ�PHWRGH�GHVNULSWLI��,QVWUXPHQ�SHQHOLWLDQ�LQL�DGDODK�

SHQHOLWL� VHQGLUL� GDQ� GLOHQJNDSL� GHQJDQ� PHGLD� DXGLR� YLVXDO� VHUWD� SHGRPDQ�

ZDZDQFDUD� GDQ� REVHUYDVL��'DWD� GLNXPSXONDQ�PHODOXL�ZDZDQFDUD�� REVHUYDVL� GDQ�

NDMLDQ� SXVWDND�� $QDOLVLV� GDWD� GLODNXNDQ� GHQJDQ� FDUD� PHQJROHNVL�� PHQVHOHNVL��

PHQ\DMLNDQ� GDQ�PHQJXML� GDWD� VHUWD�PHQ\LPSXONDQ��+DVLO� SHQHOLWLDQ�PHQXQMXNDQ�

EDKZD�� SHZDULVDQ� GLODNXNDQ� GHQJDQ� WLJD� WLSH�� \DLWX� GHQJDQ� SROD� SHZDULVDQ�

YHUWLFDO� WUDQVPLVVLRQ �SHZDULVDQ� WHJDN�� NHSDGD� DQDN�� SHZDULVDQ� NHSDGD�

NHPHQDNDQ�GDODP�KXEXQJDQ�NHNHUDEDWDQ��SROD�SHZDULVDQ�KRUL]RQWDO�WUDVQPLVVLRQ�

�SHZDULVDQ� GDWDU�� NHSDGD� RUDQJ� \DQJ� VHED\D� GDQ� SROD� SHZDULVDQ GLDJRQDO�

WUDQVPLVVLRQ �SHZDULVDQ� PLULQJ�� NHSDGD� PXULG� GLOXDU� KXEXQJDQ� NHNHUDEDWDQ��

3URVHV�SHPEHODMDUDQ�PDVLK�PHQJJXQDNDQ�RUDO�GDQ�GHPRQVWUDVL��GLPDQD�JXUX�DNDQ�

PHPSUDNWHNDQ�FDUD�EHUPDLQ�WHUOHELK�GDKXOX�GDQ�DNDQ�GLFREDNDQ�VHFDUD�ODQJVXQJ�

NHSDGD�PXULG�


